King Abdul Aziz University Spring 2014 First Exam
Faculty of Sciences Calculus I- Math 110
Mathematics Department Allowed Time: 90 M
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Q-1 | 330 =
(A) (B) (©) (D)
7 rad il rad 1z rad n rad
3 3
Q.2 If f (X)=3X —2,then D, =
(A) (_00,2] (B) [2,00) (©) (—oo,oo) (D) ]R\{Z}
Q-3 | the function f (x)=3" is
(A) | An exponential function (B) | A power function
(C) | A trigonometric function (D) | A logarithmic function
Q-4 | The roots of ‘ZX —7‘ =5 are
(A) X =1lor x =6 (B) | x=-6o0r x =1
(C) X =-1lor x =6 (D) | x=-6o0r x =-1
Q-5 | The set of solutions of ‘ZX — 7‘ <5is
(A) | [-16] (B) | [-6,-1]
(9] [1,6] (D) [—6,1]
Q-6 | The set of solutions of ‘ZX - 7‘ >5 1is
(A) (—oo,—l]U[G,oo) (B) (—oo,l]U[G,oo)
(9 (—oo,—6]U[—l,oo) (D) (—oo,—G]U[l,oo)
Q-7 | The function f (x)=x? is decreasing in
(A) (—oo,O) (B) R\{O} € R (D) (O,oo)
Q-8 The midpoint between the points (2\/5,—3) and (4\/5,5) is
© (kg @] e [©] (&9 (&
Q-9 | 2sin’x =
(A) | 1-sin(2x) | (B) | 1—cos(2x) | () | 1+sin(2x) | (D) | 1+cos(2x)
Q.10 | The equation of a line passing through the point (l,—3) and parallel to the
2X +3y —5=0is
(A) [3y+2x-7=0[(B) |3y +2x—8=0 [(€) [ 3y +2x-1=0 [(D) | By +2x+7=0




Q11 The domain of the function f (X)= \/ IS
A [70,2] (B) | (—0,4] [0,4] (D) | [0,00)
Q-12 | 116 root of the equation V2—X —3=0is
(A) | x =—7 | (B) | x =5 ©| x=7 |M[x=-5
Q13 | If cosx =+£ and 32 <x <27, then tanx =
(A) 2 (B) 2 () 5 (D) \/g

V5 5 2 2
Q.14 _

The equation of a line with a slope M =— E' and y —Intercept 3 is
(A) | 2y +3x —6=0 (B) | 3y +2x —6=0
(©) |2y -3x +6=0 (D) | 3y —2x +6=0
Q-15 | The slope and the y — intercept of the line 3x +2y +5=0 are
(A) Slope =— g and y —intercept =g (8) Slope =— % and y —intercept ==
(©) Slope =— 2 and y —intercept =— > (B) Slope =— 3 and y —intercept =— >

3 3 2 2

Q.16 | tanx CcsCX =
(A) | secx [(B) [ CSCX [ (c) | cosx | (D) | sinx
Q17 | 1¢ f (x)=2*, then
(A) | D, =[0,0), and R, =R (B) | D, =R, and R; =(0,0)
(©) D; =R, and R, :[O,oo) (D) D; :(0,00), andR; =R
Q18 | ¢ X ={1,2,3} and Y ={4,5},thenY xX =
(A) {(1,4),(1,5),(2,4),(2,5),(4,3),(3,5)} (B) {(4,1),(5,1),(4, 2),(5, 2),(4,3),(5,3)}
©) (D)

{(1,4),(15),(2,4),(2,5),(3.4),(3.5)}

{(41),(51).,(2.4),(5,2),(4,3),(5.3)}




Q.19 | ¢sc(Lz) =
(A) | -2 (B) | 2 © |1 (D) 1
2 2
.20
T ) =—22 then D, -
X“+2X -3

(A) | R\{-3-1} (B) | R\{-3,1} (©) | R\{1,3} (D) | R\{-13}
Q-21 | yhe roots of 2X°+3X —2=0 are
(A) 1 (B) 1

X=—0rX=2 x:—20rx:E
(©) x:—lorx=2 (D) x=—20rx:—l

2

Q22 [ (=6,5]\[3,7)=
(A) | [-6,3) (B) [—6,3] (©) (—6,3) (D) | (-6,3]
Q.23 | 1he distance between the points (2,—3) and (—5,—3) is
(A) |5 [(B)| 6 | (C) | 7 (D) | 8
Q.24 | 1f f (x)=cotx, then D, =
(A) | R (B) R\{O,iﬂ',iZﬂ',igﬂ',...}
© | R\(-11) (P) | R\{+%,+% +5, . |
Q.25

7—”rad =

6

(A) |120° (B) | 150° (©) | 270° (D) | 210°
Q26 | 1 f x)= \/25 X7, then D, =
(A) [ 55] (-5,5) () (—oo,—S]U[S,oo) (D) (—oo,—5)U(5,oo)
Q27| y¢ f (x)=—+25-x?, then R, =
(A 1 10,5] (B) | (-5,0) © [(05) (®) [ [-5,0]




Q.28 | The equation of a line passing through the points (—2,—-1), and (6,-3).

(A) 4y +x —6=0 (B) |4y —x +6=0
(©) 4y +x +6=0 (D) |4y —x —6=0
Q.29 | 1he set of solutions of the inequality X > +2X —3>0 is
(A) (—oo, —1)U(3,oo) (B) (—oo,—l]U[3,oo)
© [ (—0,-3)U(L) (P) | (—o0,—3]U[1,0)
Q.30

1f f (X):X—ll+\/9—X2,then D, =
® [ [-31)U(L3] ® [[-3.3]

© | R\ (D) [ R\[-3,3]




